

THETA FUNCTION IDENTITIES ASSOCIATED
WITH MODULAR EQUATION

BHASKAR SRIVASTAVA

Abstract. Ramanujan gave simple theta function identities for different bases. We have considered the continued fraction given in section 1, eq. (1.7) which equals quotient of theta functions on base four. This continued fraction is also of Ramanujan and is analogous to his famous continued fraction $R(q)$. In this paper we have given simple theta function identities on base four. These identities will be helpful in deducing modular equations.

1. INTRODUCTION

During the years 1903-1914, Ramanujan recorded most of his mathematical discoveries, without proofs, in notebooks. Although many of his results were already in the literature, more were not. A photostat edition, with no editing, was published by the Tata Institute of Fundamental Research, Bombay in 1957. The formidable task of editing the notebooks was taken up in right earnest by B.C. Berndt. The dedicated work of Berndt, published by Springer-Verlag, is now available in five parts.

In chapter 19 of his second notebook, Ramanujan studied modular equations primary of degrees 3, 5 and 7. For each degree Ramanujan derived series of theta functions identities of appropriate arguments. Each modular equation is equivalent to certain theta-function identity, but a theta-function identity may not have an equivalent modular equation. These theta-function identities are then used to establish astonishing series of modular equations of that degree. Ramanujan published but one paper [9] in which modular equations are discussed, but modular equations were not the main reason for this paper. Ramanujan recorded several hundred modular equations in his three notebooks [10]. Complete proofs for all the modular equations can be found in Berndt's book [4], [5], [6].

Keywords and phrases: Theta function, continued fraction, q-series
(2000) Mathematics Subject Classification: 33D15

The continued fraction $C(q)$ given in (1.7) is a special case of the continued fraction of Ramanujan [Entry 9 and Entry 13 in Chapter 16 of Ramanujan's Second Note Book],[4], which is analogous to Ramanujan's famous continued fraction $R(q)$. We have given some identities and expansions for this continued fraction $C(q)$ [11,12]. This continued fraction can be expressed as a quotient of theta functions on base four. Naturally I have given simple theta function identities on base 4. These theta function identities derived by us will be analogous to Ramanujan's Entries for base 5. These identities may be helpful in finding modular equations.

Ramanujan defined general theta function by

$$f(a, b) = \sum_{n=-\infty}^{\infty} a^{\frac{n(n+1)}{2}} b^{\frac{n(n-1)}{2}}, \quad |ab| < 1.$$

$$f(a, b) = (-a; ab)_{\infty} (-b; ab)_{\infty} (ab; ab)_{\infty}, \quad |ab| < 1. \quad (1.1)$$

which is Jacobi's Triple product identity.

The most important special cases of $f(a, b)$ are in Ramanujan's notation, $|q| < 1$

$$\varphi(q) := f(q, q), \quad (1.2)$$

By [4, p. 35, Entry 19]

$$\psi(q) := f(q, q^3), \quad (1.3)$$

and Euler's function

$$f(-q) := f(-q, -q^2) \quad (1.4)$$

Lastly define

$$\chi(-q) := (q, q^2)_{\infty}, \quad (1.5)$$

and Euler's identity [2, p. 27, eq.(1.6.8)]

$$(-q; q)_{\infty} = \frac{1}{(q; q^2)_{\infty}}. \quad (1.6)$$

In section 3 we have given a differential identity of a quotient of theta functions using continued fraction $C(q)$. There are four more identities involving Ramanujan's $\varphi(q), \psi(q)$ functions and the function $\chi(-q)$

In section 4 we have given simple theta function identities.

The author considered in [12] the continued fraction.

$$C(q) = \frac{q^{\frac{1}{8}}}{1+} \frac{1+q}{1+} \frac{q^2}{1+} \frac{q+q^3}{1+} \frac{q^4}{1+} \dots \quad (1.7)$$

and proved that

$$C(q) = q^{\frac{1}{8}} \frac{(q; q^4)_\infty (q^3; q^4)_\infty}{(q^2; q^4)_\infty^2} \quad (1.8)$$

which implies by (1.1)

$$C(q) = q^{\frac{1}{8}} \frac{f(-q, -q^3)}{f(-q^2, q^2)}. \quad (1.9)$$

2. NOTATIONS

We shall be using the customary q -product notation also known as q -Pochhammer symbol. Thus set

$$(a)_0 := (a; q)_0 = 1, \text{ and for } n \geq 1,$$

let

$$(a)_n := (a; q)_n = \prod_{k=0}^{n-1} (1 - aq^k).$$

Further set

$$(a)_\infty = (a; q)_\infty = \prod_{k=0}^{\infty} (1 - aq^k), \quad |q| < 1.$$

$$(a_1, a_2, \dots, a_m; q)_\infty = \prod_{i=1}^m (a_i; q)_\infty.$$

If the base q is understood, we use $(a)_n$ and $(a)_\infty$ instead $(a; q)_n$ and $(a; q)_\infty$, respectively.

We shall be using the following results frequently in the sequel:

We mention the following straightforward consequences of the series expansion of $f(a, b)$:

$$\varphi(q) = f(q, q) = \sum_{n=-\infty}^{\infty} q^{n^2} = (-q; q^2)_\infty^2 (q; q^2)_\infty = \frac{(-q; -q)_\infty}{(q; -q)_\infty}, \quad |q| < 1 \quad (2.1)$$

$$\psi(q) = f(q, q^3) = \sum_{n=0}^{\infty} q^{n(n+1)/2} = \frac{(q^2; q^2)_\infty}{(q; q^2)_\infty}, \quad |q| < 1 \quad (2.2)$$

$$f(-q) = f(-q, -q^2) = \sum_{n=-\infty}^{\infty} (-1)^n q^{\frac{n(3n-1)}{2}} = (q; q)_\infty, \quad |q| < 1 \quad (2.3)$$

where the latter equality is Eulers' pentagonal number theorem. The product representation in (2.1)—(2.3) follows from Jacobi's triple product identity (1.1).

Special cases of this general identity [8, p 825] will be used in deriving identities for $f(a, b)$:

$$(z, zq, \dots, zq^{m-1}; q^m)_\infty = (z; q)_\infty. \quad (2.4)$$

for any integer $m > 0$.

3. SOME THETA FUNCTION IDENTITIES

$$8q \frac{d}{dq} \left[\log q^{\frac{1}{8}} \frac{f(-q, q^3)}{f(-q^2, q^2)} \right] = \frac{(q, q)_\infty^4}{(-q, q)_\infty^4}, \quad (3.1)$$

$$f(q, q^3)f(q^2, q^2) = \frac{\varphi(-q^4)f(-q^4)}{\chi(-q)}\chi(q^2), \quad (3.2)$$

$$f(-q, -q^3)f(-q^2, -q^2) = f(-q)f(-q^4)\chi(-q^2), \quad (3.3)$$

$$f(q, q^7)f(q^3, q^5) = \chi(q)f^2(-q^8), \quad (3.4)$$

$$q\psi^2(q^4) = \sum_{n=0}^{\infty} \left(\frac{q^{4n+1}}{1-q^{8n+2}} - \frac{q^{4n+3}}{1-q^{8n+6}} \right). \quad (3.5)$$

Proofs of the identities

Proof of (3.1)

Taking logarithmic differentiation with respect to q of both sides of (1.8), we have

Now

$$\frac{d}{dq} [\log C(q)] = \frac{1}{8q} - \sum_{n=0}^{\infty} \left[\frac{(4n+1)q^{4n}}{1-q^{4n+1}} + \frac{(4n+3)q^{4n+2}}{1-q^{4n+3}} - \frac{2(4n+2)q^{4n+1}}{1-q^{4n+2}} \right] \quad (3.6)$$

By (1.9) the above identity can be written as

$$\begin{aligned} & 8q \frac{d}{dq} \left[\log q^{\frac{1}{8}} \frac{f(-q, q^3)}{f(-q^2, q^2)} \right] \\ &= 1 - 8 \sum_{n=0}^{\infty} \left[\frac{(4n+1)q^{4n+1}}{1-q^{4n+1}} + \frac{(4n+3)q^{4n+3}}{1-q^{4n+3}} - \frac{2(4n+2)q^{4n+2}}{1-q^{4n+2}} \right] \end{aligned} \quad (3.7)$$

Using the identity in [8],

$$1 - 8 \sum_{n=0}^{\infty} \left[\frac{(4n+1)q^{4n+1}}{1-q^{4n+1}} - \frac{2(4n+2)q^{4n+2}}{1-q^{4n+2}} + \frac{(4n+3)q^{4n+3}}{1-q^{4n+3}} \right] = \frac{(q; q)_\infty^4}{(-q; q)_\infty^4}, \quad (3.8)$$

(3.7) can be written as

$$8q \frac{d}{dq} \left[\log q^{\frac{1}{8}} \frac{f(-q, q^3)}{f(-q^2, q^2)} \right] = \frac{(q; q)_{\infty}^4}{(-q; q)_{\infty}^4},$$

which is (3.1).

A note on the identity (3.8). The author gave two proofs of this identity [12]. The first proof is based on the ${}_6\psi_6$ summation formula of Bailey and the second by invoking the residue theorem applied to elliptic functions. Moreover this identity is a well known identity of Jacobi [2, p. 396].

Proof of (3.2)

Taking $z = -q$ and $m = 4$ in (2.4), we have

$$(-q; q^4)_{\infty} (-q^2; q^4)_{\infty} (-q^3; q^4)_{\infty} (-q^4; q^4)_{\infty} = (-q; q)_{\infty}.$$

Employing identities (1.1) and (1.6) in the above identity, we have

$$\begin{aligned} f(q, q^3) f(q^2, q^2) &= (-q; q^4)_{\infty} (-q^3; q^4)_{\infty} (-q^2; q^4)_{\infty}^2 (q^4; q^4)_{\infty}^2 \\ &= \frac{(-q; q)_{\infty} (-q^2; q^4)_{\infty} (q^4; q^4)_{\infty}^2}{(-q^4; q^4)_{\infty}} \\ &= \frac{(q^4; q^8)_{\infty} (-q^2; q^4)_{\infty} (q^4; q^4)_{\infty}^2}{(q; q^2)_{\infty}}. \end{aligned} \quad (3.9)$$

By the definition of $\chi(q)$, (3.9) can be written as

$$\begin{aligned} f(q, q^3) f(q^2, q^2) &= \frac{\chi(-q^4) f^2(-q^4)}{\chi(-q)} (-q^2; q^4)_{\infty} \\ &= \frac{\chi(-q^4) f^2(-q^4)}{\chi(-q)} \chi(q^2) = \frac{\varphi(-q^4) f(-q^4)}{\chi(-q)} \chi(q^2), \end{aligned}$$

which is (3.2).

Proof of (3.3)

Taking $z = q$ and $m = 4$ in (2.4), we have by employing (1.1)

$$(q; q^4)_{\infty} (q^2; q^4)_{\infty} (q^3; q^4)_{\infty} (q^4; q^4)_{\infty} = (q; q)_{\infty}$$

Again by the definition of $f(a, b)$, as given in (1.1) and the definition of $\chi(q)$, the above identity simplifies to

$$\begin{aligned} f(-q, -q^3) f(-q^2, -q^2) &= (q; q^4)_{\infty} (q^3; q^4)_{\infty} (q^2; q^4)_{\infty}^2 (q^4; q^4)_{\infty}^2 \\ &= (q; q)_{\infty} (q^2; q^4)_{\infty} (q^4; q^4)_{\infty} \end{aligned}$$

$$= f(-q)f(-q^4)\chi(-q^2),$$

which is (3.3).

Proof of (3.4)

Making $q \rightarrow q^2$, taking $z = -q$ and $m = 8$ in (2.4), we have

$$(-q; q^8)_\infty (-q^3; q^8)_\infty (-q^5; q^8)_\infty (-q^7; q^8)_\infty = (-q; q^2)_\infty,$$

and by the definition of $f(a, b)$, we have

$$\begin{aligned} f(q, q^7)f(q^3, q^5) &= (-q; q^8)_\infty (-q^3; q^8)_\infty (-q^5; q^8)_\infty (-q^7; q^8)_\infty (q^8; q^8)_\infty^2, \\ &= (-q; q^2)_\infty (q^8; q^8)_\infty^2 \\ &= \chi(q)(q^8; q^8)_\infty^2 \\ &= \chi(q)f^2(-q^8), \end{aligned}$$

which is (3.4).

Proof of (3.5)

Equation (8.5) in Chapter 17 [4, p. 116] :

$$\frac{af(-b/a, -a^3b)}{f(-a^2, -b^2)} \varphi(ab)\psi(a^2b^2) = \sum_{k=1}^{\infty} \left(\frac{a^k b^{k-1}}{1 - a^{2k} b^{2k-2}} - \frac{a^{k-1} b^k}{1 - a^{2k-2} b^{2k}} \right).$$

Taking $a = q$ and $b = q^3$, we have,

$$q\varphi(q^4)\psi(q^8) = \sum_{n=0}^{\infty} \left(\frac{q^{4n+1}}{1 - q^{8n+2}} - \frac{q^{4n+3}}{1 - q^{8n+6}} \right).$$

Using the relation in Entry 25(iv), Chapter 16 [4, p. 40]:

$$\varphi(q)\psi(q^2) = \psi^2(q).$$

We finally have

$$q\psi^2(q^4) = \sum_{n=0}^{\infty} \left(\frac{q^{4n+1}}{1 - q^{8n+2}} - \frac{q^{4n+3}}{1 - q^{8n+6}} \right),$$

which is (3.5).

4. IDENTITIES WHICH ARE ANALOGOUS TO THE ENTRIES 2 OF CHAPTER 19 OF RAMANUJAN [4, p. 222]

We shall now prove the following identities:

$$(i) \quad f(-q, -q^3)f^3(-q^{12}) = f(-q^4)f(-q, -q^{11})f(-q^3, -q^9)f(-q^5, -q^7), \quad (4.1)$$

$$(ii) \quad f(-q^2, -q^2)f^3(-q^{12}) = f(-q^4)f^2(-q^2, -q^{10})f(-q^6, -q^6), \quad (4.2)$$

$$(iii) \quad f(-q, -q^5) f^3(-q^{18}) = f(-q^6) f(-q, -q^{17}) f(-q^5, -q^{13}) f(-q^7, -q^{11}). \quad (4.3)$$

Proof of (4.1)

Expanding (4.1) by the definition of $f(a, b)$, as given in (1.1)

$$= (q; q^4)_\infty (q^3; q^4)_\infty (q^4; q^4)_\infty (q^{12}; q^{12})_\infty^3, \quad (4.4)$$

and the right side

$$= (q^4; q^4)_\infty (q; q^{12})_\infty (q^{11}; q^{12})_\infty (q^3; q^{12})_\infty (q^9; q^{12})_\infty (q^5; q^{12})_\infty (q^7; q^{12})_\infty (q^{12}; q^{12})_\infty^3, \quad (4.5)$$

Making $q \rightarrow q^4$ and taking $z = q$, $m = 12$ in (2.4), we have

$$(q; q^{12})_\infty (q^5; q^{12})_\infty (q^9; q^{12})_\infty = (q; q^4)_\infty$$

and making $q \rightarrow q^4$ and taking $z = q^3$, $m = 12$ in (2.4), we have

$$(q^3; q^{12})_\infty (q^7; q^{12})_\infty (q^{11}; q^{12})_\infty = (q^3; q^4)_\infty.$$

Hence (4.5) is

$$= (q^4; q^4)_\infty (q; q^4)_\infty (q^3; q^4)_\infty (q^{12}; q^{12})_\infty^3. \quad (4.6)$$

By (4.4) and (4.6) we have (4.1).

The proofs of (4.2) and (4.3) are similar.

References

- [1] C. Adiga, B. C. Berndt, S. Bhargava and G.N. Watson, **Chapter 16 of Ramanujan's second notebook: Theta functions and q-series**, Mem, Amer. Math.Soc., No 315, 53(1985) American Mathematical Society, Providence, 1985.
- [2] G.E. Andrews and B.C. Berndt, **Ramanujan's Lost Notebook, Part I**, Springer-Verlag, New York, 2005.
- [3] R. Bellman, **A Brief introduction to Theta functions**, Holt, Rinehart and Winston, Inc., New York, 1961.
- [4] B. C. Berndt, **Ramanujan's Notebook, Part III**, Springer-Verlag, New York, 1991.
- [5] B. C. Berndt, **Ramanujan's Notebook, Part IV**, Springer-Verlag, New York, 1994.
- [6] B. C. Berndt, **Ramanujan's Notebook, Part V**, Springer-Verlag, New York, 1998.
- [7] G. Gasper and M. Rahman, **Basic Hypergeometric Series**, Cambridge University Press, Cambridge (1990).
- [8] Zhi-Guo Liu, **A Theta Functions identity and its implications**, Trans Amer. Math. Soc. 357 (2005), 825 – 835

- [9] S. Ramanujan, **Modular equations and approximations to π** , Quat. J.Math.(Oxford), 45 (1914), 350-372.
- [10] S. Ramanujan, **Notebooks** (2 volumes), Tata Institute of Fundamental Research, Bombay, 1957.
- [11] Bhaskar Srivastava, **Some q -identities associated with Ramanujan's continued fraction**, Kodai Math. Journal , 24 (2001), 36-41.
- [12] Bhaskar Srivastava, **A note on an analogous continued fraction of Ramanujan**, Kyungpook Mathematical Journal,45 (2005), 603-607.
- [13] E. T. Whittaker and G. N. Watson, **A Course of Modern Analysis**, Fourth Edi., Cambridge University Press, Cambridge, 1966.

Department of Mathematics and Astronomy
Lucknow University
Lucknow-226007
India.
e-mail: bhaskarsrivastav@yahoo.com